Instructions for use: ECO TOYS HC-135

1. The dinner plate can be 2. The dinner plate can be fixed on the back
adjusted in two steps. of the seat when not in use.

INSTRUKCJA MONTAZU
INSTRUCTION MANUAL

3.The dining chair can be adjustedt. The dinner plate can be separated.
in high and low levels.

1. Failure to follow these instructions may affect the safety of children.

2. When a child uses a dining chair, the caregiver may not leave.

3. Do not use any part of the dining chair if it is damaged or missing.

4. Before using the dining chair, please check carefully that all parts
are installed correctly.

5. When the child is in the chair, a seat belt must be used to prevent
the baby from falling or slipping out of the dining chair and causing

serious injury.
6. Please do not use this product when your baby can't sit alone. Ostrzezenie! J
7. Do not disassemble or adjust any part of the dining chair while your Produkt przeznaczony dla

baby is in the dining chair. dzieci od 6 miesigca zycia!
8. Do not use this product on roads, poolsides, stairs, etc. where it is

dangerous. Please read this manual carefully before
9. Keep the accessories out of reach of children. Plastic bags and use and keep it for future reference.

small parts pose a choking hazard to children. ) o o . .

10. The maximum carrying capacity of this dining chair is 15 kg. Przeczytaj uwaznie instrukcje i zachowaj jg do pézniejszego wgladu.



3.

Krzestko mozna zmontowac tak, 4. Tacka sktada sig z 2 osobnych

aby byto niskie, elementow.

¢

-

UWAGA:

)] AWN -

© o0 NO

. Nieprzestrzeganie tych instrukcji moze mie¢ wptyw na bezpieczenstwo dzieci.
. Nigdy nie pozostawiaj dziecka bez opieki, kiedy korzysta z krzesetka.

. Nie uzywaj zadnej czesci krzesta, jesli jest uszkodzona lub jej brakuje.

. Przed uzyciem nalezy doktadnie sprawdzi¢ wszystkie czesci i ich

prawidtowe zainstalowanie.

. Nalezy zawsze zapina¢ pas bezpieczenstwa, aby zapobiec wypadnieciu

dziecka, upadkowi lub zeslizgnieciu sie z krzesta i spowodowaniem
powaznego urazu.

. Nie uzywaj tego produktu, jesli Twoje dziecko nie moze samodzielnie siedziec.
. Nie demontuj ani nie dopasowuj zadnej czesci krzesetka jezeli dziecko sie

w nim znajduje.

. Nie uzywaj tego produktu na drogach, basenach, schodach itp., powierzchniach

mokrych, nierownych bgdz niebzpiecznych.

. Akcesoria nalezy przechowywaé poza zasiegiem dzieci. Plastikowe torby i

mate czesci mogg spowodowad zadtawienie sie dzieci.

10. Maksymalne obcigzenie wynosi 15 kg.



P li Li zesci: 2. Place the seat upside down on a clean platform or ground,
arts list / Lista czesc and install the No. 1 foot (with groove) and No. 2 foot into

the corresponding fixing holes on the seat.
(C—
C
(oo ) T ) %
Dx4 Ex4 Fx4 3. Install the No. 3 foot and No. 4 foot (regardless of left and right)

in the rear foot fixing holes, and then tighten the 8 bolts(M5*16)
’ to the front and rear seat legs respectively, and finally straighten
o) Q the dining chair.
Gx12 Hx2 I

(A)Seat (B)dinner plate (C)Foot pedals (D)Upper seat legs (E)Lower seat
legs (F)Foot touch parts (G)M5*16bolts (H)M5*30bolts (I)Hex wrench

(A)Siedzisko (B)Tacka (C)Podnézek (D)Goérne nogi (E)Dolne nogi
(F)Stopki (G)Sruby M5*16 (H)Sruby M5*30 (1)Klucz imbusowy
Installation steps:

1. Connect the top and bottom of each of the four seat legs according
to the corresponding numbers,and tighten them with 4 bolts(M5*16)

(as shown in Figure 1), and then put the foot contact pieces on each 4. Install the foot pedal on the front foot with 2 bolts (M5*30),
lower seat foot cover (Figure 2). tighten the lock nut, and then install the dinner plate. At this
° point, the entire dining chair is installed.

‘O
(1) (2)




Instrukcja montazu:

1. Potacz gorne i dolne nogi ze sobg zgodnie z oznaczeniami,
dokrec¢ je 4 srubami (M5*16) jak pokazano na obrazku. Na kazdg
Zz nog natéz stopke.

)

(1) (2)

2. Utéz siedzisko do goéry nogami na ptaskiej powezchni.
Zamontuj pierwszg noge (z wcietym rowkiem) oraz
2 noge, tak jak pokazano na obrazku.

3. Zamontu 3 oraz 4 noge w tylnej czesci fotelika,
dokre¢ wszystkie nogi 8 srubami (M5*16), postaw krzesetko.

4. Zamontuj podnézek za pomocg 2 $rub (M5*30), dokre¢,
zamontuj tacke. Fotelik jest ztozony.

Uzytkowanie:

1. Tacka ma 2 stopnie regulacji

2. Tacke mozna podpigc z tytu fotelika
kiedy nie jest w uzyciu.




